	


Optional Extra Credit Assignment Instructions

1. Answer the following Questions, Exercises, and Problems based on Chapter 16 (Financial Statement Analysis) of the Garrison 18e text.
1. The criteria used to allocate points to this assignment are:
1. Completion
1. Neatness, clear labeling, and demonstration of effort
1. Based on my strict discretion:
2. 40 points will be earned if both criteria are fully met.
2. 20 points will be earned if the criteria are substantially (but not fully) met.
2. 0 points will be earned if the criteria are not substantially met.
1. Points earned will be added only to the numerator (not the denominator) of your total point percentage in the course.  Mathematically, this is to your advantage (as opposed to also adding the 40 points possible to your denominator).
1. A hard copy of this assignment is due and should be submitted in class on the day of the final exam.
1. There is no penalty for not doing this assignment.  It is completely optional.
1. All answers must originate from the individual student.  No copying, collaboration, answer borrowing, or consulting with others is allowed.


Now go to Pages 2-11 of this document 




Questions
16-1	Distinguish between horizontal and vertical analysis of financial statement data.




16-2	What is the purpose for examining trends in a company's financial ratios and other data? What other kinds of comparisons might an manager make?




16-3	Assume two companies in the same industry have equal earnings. Why might these companies have different price-earnings ratios? If a company has a price-earnings ratio of 20 and reports earnings per share for the current year of $4, what is its market price per share?




16-4	Would you expect a company in a rapidly growing technological industry to have a high or low dividend payout ratio?



16-5	What does dividend yield mean?
16-6	What is financial leverage?




16-7	The president of a plastics company said, “We haven't had a dollar of interest-paying debt in over 10 years. Not many companies can say that.” As a stockholder in this company, how would you feel about its policy of not taking on debt?




16-8	Is a company’s stock overpriced if its market price per share exceeds its book value per share?



16-9	Why might a bank decline a loan to a company with a seemingly adequate current ratio of 2.0?
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Weller Corporation
Comparative Income Statement and Reconciliation
(dollars in thousands)
This Year Last Year

Sales $79.000  $74.000
Cost of goods sold 52000 48,000
Gross margin 27.000 26000
Selling and administrative expenses:

Selling expenses 8500 8,000

Administrative expenses 12000 11,000
Total selling and administrative expenses 20,500 19,000
Net operating income 6500 7.000
Interest expense 600 600

Net income before taxes

,900 6,400
Income taxes 2,360 2,560

Net income 3540 3840
Dividends to common stockholders 320 600
Net income added to retained earnings 3220 3240
Beginning retained earnings 26,660 _23.420

Ending retained earnings

Required:

Compute the following financial data and ratios for this year:
1. Working capital.

2. Current ratio.

3. Acid-test ratio.
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EXERCISE 16-3 Financial Ratios for Asset Management ZLo16-3

g Refer to the data in Exercise 16-2 for Weller Corporation.

Required:

Compute the following financial data for this year:

1. Accounts receivable turnover. (Assume that all sales are on account.)
2. Average collection period.

3. Inventory turnover.

4. Average sale period.

Operating cycle.

6. Total asset turnover.
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EXERCISE 16-4 Financial Ratios for Debt Management (%' LO16-4

g Refer to the data in

Required:

Exercise 16-2 for Weller Corporation.

Compute the following financial ratios for this year:
1. Times interest earned ratio.
2. Debt-to-equity ratio.

3. Equity multiplier.
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PROBLEM 16-15 Comprehensive Ratio Analysis 5 LO16-2, (2} LO16-3, B LO16-4, (@ LO16-5,
@ Lo16-6
@ You have just been hired as a financial analyst for Lydex Company, a manufacturer of safety helmets. Your boss has asked you to

perform a comprehensive analysis of the company’s financial statements, including comparing Lydex’s performance to its major
competitors. The company’s financial statements for the last two years are as follows:
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Lydex Company
Comparative Balance Sheet

Assets
Current assets:
Cash
Marketable securities
Accounts receivable, net
Inventory
Prepaid expenses
Total current assets
Plant and equipment, net
Total assets
Liabilities and Stockholders’ Equity
Liabilities:
Current liabilities
Note payable, 10%
Total liabilities
Stockholders’ equity:
Common stock, $78 par value
Retained earnings

Total stockholders’ equity

This Year

$ 960,000
0

2,700,000
3.900.000
240.000
7.800,000
9,300,000
$17.100.000

$ 3,900,000
3,600,000
7,500,000

7.800,000
1,800,000
9.600,000

Total liabilities and stockholders’ equity $17,100,000

Last Year

$ 1,260,000
300,000
1,800,000
2,400,000
180,000
5,940,000
8.940.000
$14.880.000

$ 2,760,000
3,000,000

7.800,000
1,320,000
9,120,000
$14,880,000
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Lydex Company
Comparative Income Statement and Reconciliation

This Year Last Year

Sales (all on account) $15,750,000 $12,480.000
Cost of goods sold 12,600,000 9.900,000
Gross margin 3.150,000 2,580,000
Selling and administrative expenses 1,590,000 1,560,000
Net operating income 1,560,000 1,020,000
Interest expense 360,000 300,000
Net income before taxes 1,200,000 720,000
Income taxes (30%) 360,000 216,000
Net income 840,000 504,000
Common dividends 360,000 252,000
Net income retained 480,000 252,000
Beginning retained earnings 1,320,000 1,068,000
Ending retained earnings $ 1,800,000 $ 1,320,000

To begin your assignment you gather the following financial data and ratios that are typical of companies in Lydex Company’s ~
industry:

Current ratio 23
Acid-test ratio 12

Average collection period 30 days

Average sale period 60 days
Return on assets 9.5%
Debt-to-equity ratio 0.65
Times interest earned ratio 5.1

Price-earnings ratio 10
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Required:
1. You decide first to assess the company’s performance in terms of debt management and profitability. Compute the following for both
this year and last year:

a. The times interest earned ratio.

b. The debt-to=quity ratio.

c. The gross margin percentage.

d. The return on total assets. (Total assets at the beginning of last year were $12,960,000.)

<. The return on equity. (Stockholders’ equity at the beginning of last year totaled $9,048,000. There has been no change in common
stock over the last two years.)

. Is the company’s financial leverage positive or negative? Explain.
2. You decide next to assess the company’s stock market performance. Assume that Lydex’s stock price at the end of this year is $72 per
share and that at the end of last year it was $40. For both this year and last year, compute:
a. The carnings per share.
b. The dividend yield ratio.
c. The dividend payout ratio.
d. The price-carnings ratio. How do investors regard Lydex Company as compared to other companies in the industry? Explain.
<. The book value per share of common stock. Does the difference between market value per share and book value per share suggest
that the stock at its current price is a bargain? Explain.
3. You decide, finally, to assess the company’s liquidity and asset management. For both this year and last year, compute:
a. Working capital.
b. The current ratio.
c. The acid-test ratio.
d. The average collection period. (The accounts receivable at the beginning of last year totaled $1,560,000.) oz 766
<. The average sale period. (The inventory at the beginning of last year totaled $1,920,000.)
f. The operating cycle.

& The total asset turnover. (The total assets at the beginning of last year totaled $12,960,000.)

4. Prepare a brief memo that summarizes how Lydex is performing relative to its competitors.
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EXERCISE 16-1 Common-Size Income Statement (%! LO16-1

0 @ A comparative income statement is given below for McKenzie Sales, Ltd., of Toronto: Page 758

McKenzie Sales, Ltd.
Comparative Income Statement

This Year Last Year

Sales $8,000.000  $6.000.000
Cost of goods sold 4,984,000 3.516,000
Gross margin 3,016,000 2,484,000
Selling and administrative expenses:

Selling expenses 1,480,000 1,092,000

Administrative expenses 712,000 618,000
Total expenses 2,192,000 1,710,000
Net operating income 824,000 774,000
Interest expense 96,000 84.000
Net income before taxes $ 728,000 $ 690,000

Members of the company’s board of directors are surprised to see that net income increased by only $38.000 when sales increased by
$2,000,000.

Required:

1. Express each year's income statement in common-size percentages. Carry computations to one decimal place.

2. Comment briefly on the changes between the two years.
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EXERCISE 16-2 Financial Ratios for Assessing Liquidity @ Lo16-2

g Comparative financial statements for Weller Corporation, a merchandising company, for the year ending December 31 appear

below. The company did not issue any new common stock during the year. A total of 800,000 shares of common stock were outstanding.
The interest rate on the bond payable was 12%, the income tax rate was 40%, and the dividend per share of common stock was $0.75 last
vear and $0.40 this year. The market value of the company’s common stock at the end of this year was $18. All of the company’s sales are

on account.
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Weller Corporation
Comparative Balance Sheet

(dollars in thousands)
This Year Last Year

Assets.
Current assets:
Cash
Accounts receivable, net
Inventory
Prepaid expenses
Total current assets
Property and equipment:
Land
Buildings and equipment, net
Total property and equipment
Total assets
Liabilities and Stockholders’ Equity

Current liabilities:

Accounts payable $ 9.500 § 8300
Acerued liabilities 600 700
Notes payable. short term 300 300
Total current liabilities 10400 9.300

Longterm liabilities:

Bonds payable 5.000
Total liabilities 14,300
Stockholders’ equity:

Common stock 800

Additional paid-in capital 4200
Total paid-in capital 5.000
Retained carnings 26,660

Total stockholders’ equity
Total liabilities and stockholders’ equity ~$50.280





